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Before answering the questions, candidates should ensure that they have

been supplied the correct and complete question paper. No compiaint in

this regard, will be entertained after examimation.

geF @ v 8% @ usa yhenl 77 ghbaa wv & B g 30 o

@ go gx Ber & gher & gy 9 G99 7 HiF o R 7@

g ary |

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt four other questions, selecting

one question from each Unit. All questions carry

equal marks.
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1. (a) what

(b)

(c)
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is Paasche’s Index Number ?

e gasih F1 8 7

wWhat is Circular Test ?

g R e ¢

What is Purchasing Power of Money ?

ga1 F Fa At ¥ B 7

What is seasonal variations ?

Argefy e F7r & 7

What is empirical approach of probability ?
mifErer % wEe fae gftesdor R wed € 7

Conditiona l_Probability_

STIgeRT S

What is the main parameters of Binomial
distribution ?

faae Rator 3 wyg WRpfex 1 ¥ ?

What is the scale of Probability ? 2x8=16
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UNIT - | 3. What is cost of living Index ? Discuss its uses. What

b _

o - | - are methods used in the construction of cost of living

2. Construct a Price Index Number by using Fisher's Index 7 16

Ideal formula : , 16 i Frfe P 3 7 S w
e & st go g w2399 T Sy ¢ 2 7 g fmir 3 Rfwl aasw

UNIT -1l
Commodity Base Year Current Y#ar T — i
Ty | s o arg af
| ) 4. Explain briefly the various methods of determining a
' Price |[Expenditure| Price |Expenditure , ) )
trend in a time series. 16
(Per | Rs) | (Per | (Rs) wr Ah ¥ fre A Aed A R R amen 54
Unit) Unit)
=9 Y :
g g 5. From the following data, calculate seasonal indices by
(st (Hﬁ ! | the Ratio to moving average method. 16
; Prfefge offeer ®, wfomm olvra faftr & srgud & A
A 2 40 5 75 Gl F T HIOT -
_ . Year | I Quarter | I1 Quarter |III Quarter IV Quarter
B 4 16 § 40 : :
. e ) G 1M nfmEe | mBEm | vEEE |
C 1 10 2 | 24 1985 68 62 61 63
- ] 1986 65 58 | 6l 61
D 5 25 10 60 — ]
- : 1987 68 63 63 67
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UNIT - 1l
e — il

6. A company has two plants to manufacture Scooters.

Plant I manufactures 70% of the Scooters and plant II
manufacturers 30%. At plant I, 80% scooters are rated
standard quality and at plant 1I, 90% of the Scooters
arc rated standard Quality. A Scooter is picked up at
random and is found to be standard quality. What is

the chance that it comes from plant I ? - 186
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. State- and prove the Multiplication theorm of

Probability. 16
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No. of families : 42 178 290 226 64

Iq'i%?'lTafﬁEﬁrFi@T:

UNIT = IV

s — IV

8. A survey of 800 families with four children each

revealed the following distribution : 16

AR == A 800 YRA @ ue adeer A i e
wehe T .

No. of Boys : 0 1 . 2 3 4

Fit a Binomial Distribution under the hypothesis that

male and female births are equally probable.
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9. Do comparative analysis of Binomial, Poisson and

Normal Distribution. 16
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